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QUESTION 1

Interface ge-0/0/0.0 connecls yout network to your ISP. You want to advertise this interface address as an Internal route
In OSPF without creating a neighbor with your ISP. In this scenario, how is this task accomplished?

A. Remove interface ge-0/0/0.0 from OSPF.

B. Create a generated route for Interface ge-0/0/0.0.
C. Add ge-0/0/0.0 as a passive interface In OSPF.
D. Configure a static route for Interface ge-0/0/0.0.

Correct Answer: D

QUESTION 2

You are asked to configure filter-based forwarding on a Junos device. Which two statements are correct in this
scenario? (Choose two.)

A. You must create a routing policy.

B. You must create a route target.

C. You must create and apply a match filter.

D. You must create a routing instance.

Correct Answer: CD

Explanation: To configure filter-based forwarding, perform the following tasks: Create a match filter on the ingress
device. To specify a match filter, include the filter filter-name statement at the [edit firewall] hierarchy level. A packet that
passes through the filter is compared against a set of rules to classify it and to determine its membership in a set. Once
classified, the packet is forwarded to a routing table specified in the accept action in the filter description language. The
routing table then forwards the packet to the next hop that corresponds to the destination address entry in the table.

Create routing instances that specify the routing table(s) to which a packet is forwarded, and the destination to which the
packet is forwarded at the [edit routing-instances] hierarchy level.

QUESTION 3

You have created a routing instance named vr3 that will provide access to Server 2 (10.0.0.2) (or the hosts on the
10.10.10.0/24 network. Which command would you use to test connectivity between vr3 and Server 2?

A. user@vr3> ping 10.0.0.2 count 5
B. user@vr3> ping 10.0.0.2 count 5 source 10.10.10.1
C. user9routerl> ping 10.0.0.2 count 5

D. user@routerl> ping 10.0.0.2 routing-instance vr3 count 5
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Correct Answer: C

QUESTION 4

Exhibit

M Exhibit ®

Ethernet header
IP header
TCP header
Payload

Packet

R2 R3 R4

Service Provider MPLS Core

Which two statements ate correct about the actions taken as the packet traverses the service provider MPLS network
from Site 1 to Site 2 as shown in the exhibit? (Choose two.)

A. R2 will perform a lookup using the mpls.0 table.
B. R1 will perform a lookup using the Inet.3 table.
C. R1 will perform a lookup using the mpls.0 table.
D. R2 will perform a lookup using the inet.3 table.

Correct Answer: A

QUESTION 5

Exhibit S Exhibit LSI1 A AS 65501 ISPB AS 65502 Advertised Prefixes: 172.20.0.0/24 172.20.20.0/24 172.20.21.0/24 \
N Advertised Prefixes: 172.20.0.0/24
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Referring to the exhibit, which two statements are correct? (Choose two.)

A. Devices in AS 65512 will prefer ISP A for traffic destined to the 172.20.21.0/24 network.
B. Devices In AS 65512 will prefer ISP A for traffic destined to the 172.20.0.0/24 network.
C. Devices in AS 65512 will prefer ISP B for traffic destined to the 172.20.21.0/24 network.
D. Devices In AS 65512 will prefer ISP B for traffic destined to the 172.20.0.0/24 network.

Correct Answer: AC
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